INDUSTRIES:

Installation Guide

Dodge Charger
Bracket Combo Assembly

FITS: Python Ill, Ranger

PT#

Installation Materials

al.951525

910524

=

909949

F

|QUAEI\‘_TIT

402544

G

)

QUANTITY
1

T

903542

H

QUANTITY]
1

‘\@/\

909963

903356

J

QUANTITY|
1

Thick Flat Washer

QUANTITY
2

Nylon Flat Washer

Dash Bracket Angle Bracket 3.6 x 1.75 | Carriage Bolt 1/4” x .032 Wing Nut 1/4-20 5/16 x 0.078 1/4” x .032
- 900025 902816 |_ 909094 |\/|
al 2 95 15 2 5 T QUANTITY] QUANTITY QUANTITY
: 1 — | 3 | 2
=
=
=
Disc Spring Flush Screw #4-40x.25 | Stud Knob 10-32 x .50”
680004 680005 900319

Dodge Charger
Bracket Combo

N

QUANTITY
1

Dual Lock

O

P

Dual Lock

QUANTITY
1

‘\\\\\\\\\:ifif

Rubber Channel

909092

Q

QUANTITY
4

Nylon Flat Washer #10

900024

R

Nylon Washer

QUANTITY|
1




|NnuSTn|Es®

Installation Guide

Dodge Charger
Bracket Combo Assembly

FITS: Python lll, Ranger PT# al.910618

Installation Materials

910618-1 A 910618-2 B 908203 C | 400010 D

Dodge Charger
Bracket Combo




Installation Process

1

it

D
'
A
Y
C
'
B

Taking the Front Dash Mount (B) place a Regular
Plain Washer (C) on each stud. Put the Rear Dash
Mount (A) on top and fasten with a Wing Nut (D).

Taking the Dash Bracket (E) and line up either set of holes
to the Front Dash Mount (B). Secure with three Flush
Screws (L).

|O+—«m«'n«7<«1|

QO )T

—_—

Put the Carriage Bolt (G) through the slot of the Dash
Bracket (E). In this order, secure the Angle Bracket (F) to
the Dash Bracket (E); Thick Flat Washer (1), Nylon Washer
(S), Angle Bracket (F), Disc Spring (K), Wing Nut (H).

Take the Rubber Channel (Q) and cut even. Fit onto the
ends of the Dash Bracket (E) to rest on the dash.
OPTIONAL: Take the Dual Lock (O) strip and stick to the
bottom of the Front Dash Bracket (B). Put the other Dual
Lock (P) directly on the dash to stabilize the bracket.

} 5

Mount bracket into vehicle by first placing the Rear Dash

Mount (A) into the defrost vents and overlapping the Front

Dash Mount (B) over the front of the dash. Push together

the two mounts and tighten the Wing Nuts (D) holding the
two brackets firmly together.

6

N
Y
R
Y

NAP7Z

Taking both Stud Knobs (N), place a Nylon Flat
Washer (R) onto the stud. Put through the holes of the
Dash Bracket (E). Add another Nylon Flat Washer (R)

separating the unit from the Display Bracket (E). Put
the radar unit into place. Secure with studs.

Antenna will be mounted with parts provided in its own kit.

Dodge Charger

Bracket Combo Assembly
Part# ai.951525




1aysepn UojAN 20006 i o 840°0 X 9T/9 13ysSe Je|d %OIy.L €96606 [4 _

0T# Jaysep 1|4 UojAN 260606 ¥ O 02-/T INN bUIpn Z¢vSE06 T H

|suueyd Jaqany 6.£006 GL d 2E0° X /T }og abeure)d Y520V T 9

feuondo 3207 [eng G00089 T 0 G/'T X 9'€ 19)deig 3|buy 6176606 T g

O ‘N way| 3007 [en@ 00089 T N 10elg ysed ¥2S0T6 T 3

0§ X ZE€-0T qouy pnis 760606 Z W INN DUIA 0T000% Z d

G2’ X Ob-p# MaIos ysnid 918206 € 1 J8USe)\ ure|d Jejnbay £02806 Z )

bunds 2s1q 520006 T M JUNOW yseq juoid 2-8T9016 T g

ZE0'X.p/T Jaysem Je|d UOJAN 95£€06 4 r JUNOIN yseq Jeay T-8T90T6 T v
NOILdI¥Os3d d3GNNN 18Vd [ ALILNVNO|[NILI NOILdIYOS3a YIGANNN L8Vd [ALILNVNO[NI LI

‘SIATH LS MNONI




